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14. In the given figure , MN || AB,BC=7.5¢m , AM = dcm and MC = 2cm find the lengthBN.
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15. In the given figure AABC and ADBC lie on the same base BC . A
Pisa pointon BC such that PQ || BAand PR || BD Prove that QR || AD.

16. In the given figure , ZB =90°
Dand E trisect BC .Prove that : 8AE"= 3AC® + 5AD?

D E
17.D E  InAABC,DE|BC ,AD:DB =3:2, find ar(ADOE) :ar(ACOB)

B

18.1n AABC, ZABC=90°andBD L AC.IF AD =8cm .DC=18cm find BD.
A D
19. ABCD s a parallelogram Misthe  mid point of DC.BM is intersecting ACat L and AD produced atE .
A E
Prove that E=2BL.
Y]

B c a

20. in the given figure ,Dis the midpoint of BC.Eis the mid point of AD. E

Provethat  AF = AC (hint draw DG || EF

21 In the given figure DEFG is a square and ) c

ZBAC=90° . Show that DE’= BD x EC Prepared by Mrs Rafia Hadi
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STDX PRACTICE PAPER  Ch-6 (SIMILAR TRIANGLES)

i
s
2. Ifthe diagonal BD of a quadrilateral ABCD bisects both 2B and £D, show that 5% =

1. In AABC ,DENBCand _I£AC = 4.8cm find AE.

an
"
3. In the given figure DI is paralle] to ACand BF : FC = CE: EA,

A
Show that DE Il BC.
P! E
F C

B

4 InBABC,LM Il AB If AL=X—3,AC=2xBM =X -2 and BC=2x 43 find the value of x  (ans =9)
< prove that any line drawn parallel to the parallel sides of the trapezium divides the non parallel sides
in the same ratio.

6. Inthe given figure, ifAB1I DC,AQ =3x-1,B0 = 2x+1, D &
0 = 5x -3 and do =6x -5, find the value ofx A

A B
7. ABCisa ight triangle right angled at C.Ifpis length of the perpendicular from CtoABand AB=c,
BC=a,CA =b,then prove that: i) pc=ab i) rl‘ =+ =

6. In the given figure, AB,CD and EF are parallel to each other. A
!

w T

P, -y
Prove that: -

B F D
5. ABCis an isosceles right triangle right angled at B Two equalateral triangles are constructed on the
two sides BCand AC of the triangle ABC. E

c
Prove that areaof A BCD = area of 8ACE
D
B A

10. In the given figure D || BF and DF || BC

B
show that AF’ = AE. AC D? z g
A E F

11, Find the altitude of an equilateral triangle of side ‘a’.
12, in the given figure DE | BC and FE || DC Jf AF = 9cm AB = 16cm find AD.





[image: image3.jpg]STD-X

Ex:1

12

13.
1a.
1.
16.
17.

Ch-1 REALNUMBERS Sub: MATHEMATICS

The HCF of two numbers is 11 and their LM is 7700.1f one of these numbers is 275.then find the other
number.
Write the HCF of smallest composite number and the smallest prime number.

. 9} i . 2 "
Without actually performing the long division state whether the rational number ;- will have terminating

decimal representation or no terminating repeating decimal.
5 (i i
The decimal representation of rational number +-=——will terminates after how many places of decimals.

State the fundamental theorem of arithmetic.

State the Euclid’s division lemma.

Use Euclid's division lemma to find the HCF of :

56,96 and 404

4052 and 12576

State the condition to be satisfied by the denominator of a rational number, o that rational number has a
terminating decimal.

Write 7429 as a product of its prime.

Can we have any ne N, where 15° ends with digit zero? Explain.
find x,y and z in the following figure

State whether 10,06 is rational or not. if retioral, expressia £ form.

Examine whether (3 —3)(3 -+ ¥3) is rational or irrational.

Find the HCF of 6930 and 8085 by using fundamental theorem of arithmetic.

Show that the cube of any positive integer is of the form Sk, 9k+1 or 9k+8,where keN.
Show that the square of any positive odd integer is of the form 8m +1 .where meN.
find two rational and two irrational numbers between V2 and 3

Ex-1t :

Prove that V3 is irrational.

Prove that \7 is irrational.

Prove that5+2Y3 is irrational.

Prove that -2v3 is irrational.

Prove that7-5V3 is irrational.

6. Prove that — - is irrational.

7

Prove that \3 + 5 is irrational,

8. Find the rational number and also irrational number between the number
2=0.101001000100001- & b=0.1001000100001

Prepared by Mrs RAFIA HADI
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